Lydian Mode Part 1

Cosmin Lupu

Dsus?2
XXO O

Aadd9
X0

C#m/A

X0

B7

X0

X0

--12-3 --213- --241- 223-

--123-

100

Moderate J

Example 1

10—9

9—1t—

Huﬂ_ [=>]
) =
L1 =
ol s
(10 w
[y o
( !
ol - ZREp  Lhdd
a
s
i i
[
S u ©
||! M~
Al w R610 caas
N
Ereo - AHMv K-kt

1

peao]

Auounre

< unm|0 G_G oSO 6_
“Zs N Wy
Y L
XAl L
‘I_l +
MUl Coll (L
.nm |uu’|ﬂ i NoN—Oo M ‘l_ll W M
o &
(\J L
N L T
.' =)
b
) -
< N il _ iR
/m ON—ANO >»
R FHY EX3
@]
L1a =
m u-"w J ANON—O W 2 m ~
| 188
91 [ nmo
il
N F ] H
(|4 T
b
e
7 N¢ —— v
< % oS
- 1171 .
peo] Auo wey

Page 1/1



